18
2N = & h e
SR I 1|l B A .~ = =
193]3w 2[\]{70\/ | x o BB Xy b AFO—IEiIE UL-94 V-2
2 4R 0 BOATE (NIRIVATE)
15 10 10 10 10 10 10 15 —
gl N=R=0N v 0,0 =N /)
o3 s0.fa0 [40 [40 [a0. eo 40 [40 40 [a0 [50 3 i s | THRAREENE | 60AF BC 5.0kA 30nA BEM
i | ‘ 4 | BRAR PR BT S8 30AF B.C. 2.5kA J- FR#REMEN
l { TWTT WTTT l* 162 5 FFEEL » NI R TOEL VB
\ / o so0v zoovaoov || 8 | 200V HIEAT SR 30A BE
d 40A 30A
7
BAAME 38 mm? .
® Q ;D Q @ @ @ @@ 9 | O3RN Xy Cxy FON—FECBET
° . 10| 100-200 VEIESEE | xv CXv M AN —E@ICET
- A ] N | B8 7 Sy 07 R
3] B 4 A b= | B og A 7 BEO, NNB /v 775 bR
< o S E © 7 S 13 | ARENAT X Y 4 - $45 x 30
®| & ™ Boof |7, . Oleo|_- . ¥
' ' 9 im 14
R 2 S S S = Nlssaspt
SRR SRl © g 15 | $AmMMAY A Ky s | 4 - 45
/ — \ N B S AR 7 16| RERX7 - APMIEF | M5 x 2, REFEF10P
50 275 . \ \ b AN BRT% (B) 8 TBF-103 BFxIyM8
Q
@ 18| TR (BFE~T®H) | 600V EM-IE ZR 14nm’
19 | EoaKSABEMAERS | 50AF  B.C, 25kA
) N=| 04 Ny s . \— - T
63@ 158.5 8 5718 84 18 84 18 84 18 84 67.95 20 /HH7K%§FH ~ i X <% 7 A %@kgﬁ{T
- ~ . _ 21 | BIR A I50ABE (DIE50ATE)
—i / L " Z’ = 00 | BRAREEMT S I50AF B,C., 25kA 30mASIERF
@ﬁ@}ﬁi@ﬁ@ﬁaﬁ@ @}sia /V % //\ / ’ //’ / @ 23 | BCAR FE R KT 28 50AF B, 2,5kA
? ? * \ \ \ \ \ . Zoft, MEIEJISC28(ALTAAEHE) K. NDS0007 (FEMAEM) L& 3B,
el | [T - . \ \ \ .
1 o 9 9 =
= o can) | ¥ S\ DY DN N\E
63 66 145.9| 47 57 84 84 84 84 67.95
18 18 18 18 18
BRI TED =] 128 5% R
1 5 =] 13 17 21 1 3
i i 2 3 7 11 15 19 23 5
Sf 2 B 10 14 18 22 2 4
8 | 796 4\8
4 8 12 16 20 24 6
= KT = 78 EAEOR P & = [s] 78 Xv U2y MK (B FEBARAM| R ZE / 7
sy s FNOHIRRS o Iz B OB ¥ % 18 R N [RAERFRS| o . _ - |EHOHIRES o X B B ¥ I 8 R W g | EEYRMED A RS =KD £ /7 B
]\Q,] REENSE|ZETV-NZETV-hZeTU-n O % 5 B R FER & REEMS |Z2TV-NZeTV-0%geTL-hE O B " (BSBANM) IER|ERX R BN
3P2E |2PIE 20A|2P2E 20A|2P2€ 30A| AN — A|L P 3 W[ Hpo¢ DPOE | 2P2F 404 2P2E 204 2P2F 30A| AR —A[1 P2 W . IVE 0
7
R HemE| 200V peEEl | — | 8GY9,7,0.2 @ t £ B 5 ® &
~ | B0 Al 16 5 1 0 40 A| - | 150A] 2 3 1 - o py MG3B222WA26
0-09-2 GBU-63.1EC| B-1N B-2N B-2N 60 A B-2N GB-152EC| B-2N B-2N B-2N 190 A TYIR—VIRGARY = (ZGEAE: [HIy Xy FL-- 2 7ty | EHERER)




